HBRAEAFCAHARNDASTE

201244 H 18H
H B 2 £ 3 ® & F E BEEL

AH190 (k) 6-54£=18:00~19: 0008 K/ MEBAE | BEH
NPO¥ AFun#£=19:30~%H S v\ 3k Z— el -FH
6 =12:00[R B EHES WHTEFC T™M FEHIED>
54E=12:00~15:00F /] |
AE=T15RMES BEAR—YT—T - m)ll

4A21H (L) |3-2-14E=9: 30 PHESES THBIAR /N3¢

(ZAN TV EHBFCL D AZHE10:00~11:00)
=12:30~16: 001 EEhE TM P2 /NSF
18:30~5FE)—F (RE W= RFy 728 - TAKEE |0
64 ="7:303 Y EZHB/N TM FEHITD>

4H 220 (F) 54 =8:303 P /N TM A aiEH

4:3+2+:14E=9:00~16:007 K&/ - )l EAR
FRIORE~AEADL T DYy I — = |

4826H (K) | 6-58=18:00~20:007 K/ MEBAE BT
6 =ZWSCHy TE X iITM BEFHIEH
54 =8:30HME S B MG 5FEV—TEFERE A aiEH

4A28H (1) |3fFE=11:45RAEBIES RKEILV—~ FEH
4-2-1%=9:30MES BEZFEAEFYI-)—/ TRy R B - /NF

18:30~VEEXBRL -ZAKEE | MB-F)/F
4-34=13:003KF #FZTM(14:00~) B - HELH
4A29H (B) |3E=T-7V#SCI=bv7 FINE/9:20~13:00 (F&) HEKH
UE=T TV HSCI=Hvy 7 FINE/9:20~13:00 (F1E) /NS
6-5ﬂ5=12:307ﬁﬁ<ﬁ;£ ﬁg-ﬁamﬁn
44£=9:00~12:007E K7/

AAB0R W) | 5 (1) = AMES/N TM (E35) pes
3FE=PMFEH/ TM (E3£H) a)ll
5-4AFE=RFLFTM HHAR—Y L8 (9~16) kY. 353

5830 (4) SE=RITFTM(6AHI) FIIFE3IFTFR(9~16K) HEJH
6+2+14E=9:00~TF K&/ MEH FEFE /NI
OBEE=13:00~
64 = /AL BEFH A0
3HE=9:00WE X/ MEE HEJH
2:14E - FvX=9:00~12: 307 K/ MEE INGRETR
64 = /AL BEFH A0

5A5H (Hl) |4F=12:30mHHRES XRELV—7 (14k~) 373
2 =Xy AR FER EFIG (FIE) /NTE

5A6H(R) |8F-MErmiy7 EEERN
A =EHkEE EBRE STy B

5H10H (k) 6-54£=18:00~20: 008 K&/ MATEE| BEH-TTE
6E=2H1KRTIVVR (FE)
1E=F%y XTRXT 4V FEVEG(FE) N
Xy R)—F—FBE FVEG(FE) /NTE

5H13H (H) %ﬁ;{ﬁ%\%gw?/b (F)

5H17H (K) 6-54£=18:00~20: 008 K&/ MATEE| BEH-TTE
6E=2H1KRTIVR (FE)

5H19H (1) | 3&E=XFEILV—7 (FE) Al
i K&/NPM

5H20H (H) | 65FE=2H1KIULK (FxE)

5H24H (k) 6:54E=18:00~20: 0008 K/ MABAE| BEH-7TE

5526 H (L) 6E=2H1KRTIVR (FE) N
B =STAYCOOLRFU S HvF2012 KEER (FE) =R

5H27H (H) %ﬁ;{ﬁ%\%gw?/b (F)

5H31H (&) 6:-54£=18:00~20: 00 K/ NMABEE| BEH-TTE

6H23H (+) |3FE=REW—F (FE:F4LHEH)

X REIFI. K- /KB H (%, Pm3:30~5:00=%H B D HG, AR HIL. FBEEPm6:00~8:00




